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ITEXS - TiE - 785 - #5 ®OOB £ S-Rivs HE EEH(f ® %8B
WiET =% 1.0 104, 606, 000
AT =% 1.0 10, 455, 000
EAHT % 1.0 7,714,002
HEIHEEA (T8 m3 6,702.0 1,151 7,714,002
BT =% 1.0 2,741,875
BIT (R£L) m3 2,675.0 1,025 2,741,875
e T =% 1.0 80, 402, 000
KT =% 1.0 2,107,004
LIRS KR T A LT — k7Y 2—LA350 m 4.8 14.070 67,536
WIFEKEE TB ANT— R T 2—LA30 m 46.9 17,720 831,068
KEELET 2 4.0 155, 200 620, 800
KEEZT RAFE0. 8m3EB 2 1. Om3LL TR = 4.0 146, 900 587, 600
ERTI =% 1.0 78,295, 720
BHERT REBREEE m2 4,178.0 18,740 78, 295, 720
ILfE#xET =% 1.0 7,026, 000
T % 1.0 7,026, 186
AKRBHT 3B m 218.0 3,877 845, 186
NCREBL 3B m 175.0 35, 320 6, 181, 000
RT % 1.0 6, 723, 000
HERY MRT m2 2,355.0 2,855 6,723,525
EEIFE =% 1.0 104, 606, 000
ESCES - B =% 1.0 10, 717, 000
HBREE BLFHED) = 1.0 0
HEBEREE (FHLE) =% 1.0 10, 717, 000
MIEE =% 1.0 115, 323, 000
RIGEEE =% 1.0 30, 129, 000
IERIE % 1.0 145, 452, 000
—RERES =% 1.0 23, 548, 000
—REHEFL =% 1.0 23, 548, 000
TH@E% =% 1.0 169, 000, 000
HETIME %8 =% 1.0 16, 900, 000
R =% 1.0 185, 900, 000
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